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1. (20 pts) Predict the major product for the following reactions.
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2. (20 pts) In each of the following indicate which reaction will occur
faster. Explain your reasoning.
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b) 1-chloropentane with sodium acetate in acetic acid or with sodium
methoxide ip methanol
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c) 1@ or cyclo-octyl chloride with sodium azide in

aqueotss-ethanol.
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d) 1-Chloro-2-methylbutane ﬂr@im sodium iodide
in acetone.
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3. (10 points) Give the structures (particularly the stereochemistry)
of compounds A and B in the sequence below.
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4. (20 points) Show how the following compounds can be converted
to 1-pentyne.

a) 1,1-dichloropentane
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¢) acetylene
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5. (20 pts) Predict the major product for the following reactions.
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6. (10 points) Suggest a synthesis of 2-heptanone from acetylene and
any necessary reagents.
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